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SA2 thanks RAN WG3 for their liaison about the architecture solution for the Cell Broadcast Service and wants to answer to RAN3 questions.
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SA2 would like to stress the following assumptions

1. Although Iu has been mentioned as being the interface between the CN routing node (e.g. 3G-SGSN) and the RNC for the application (e.g. CBC), IP (and not GTP) packet functionality is used in the CN Routing Node (e.g. 3G-SGSN) to relay the traffic between Application Node (CBC Centre) and RNC. This means that the CN backbone (e.g. 3G-SGSN) is used as an IP router and that GTP_U is not used between RNC and 3G-SGSN to forward CBC traffic. The CN routing Node could be another Node that 3G-SGSN (e.g. a plain router).

2. Although currently only UDP is foreseen as underlying layer below GTP-U on IU, an appropriate layer 3 protocol (TCP or UDP) can be chosen per application (e.g. CBC), because the aplicative (e.g. CBC) traffic  is not carried by GTP-U. 

Hence:

· there is no need for dynamic signalling between CN and RNC (i.e. RANAP) to establish the common communication channel. RANAP is used to configure RAB and this flow does not correspond to a RAB. 
· The QoS assiociated with this applicative (e.g CBC) flow should correspond to Differentiated service between CBC and RNC and possibly to application-specific QoS between RNC and UE.
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